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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/ ''����� 
��%&�����/ 

 
��&�$����������� 

 
1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 
         $45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O O6?O5FEO >5O74F5?L=>= G4EFLN 
>5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< %�� 
15.02.03 �>=F46, F5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D46?<G5E>>7> < 
?=56<4F<G5E>>7> >5>DG4>64=<O (?> >FD4E?O<). 
 
1.2. �5EF> GG55=>= 4<EF<??<=O 6 EFDG>FGD5 >5D47>64F5?L=>= ?D>7D4<<O  
 'G55=4O 4<EF<??<=4 «�4F5D<4?>6545=<5» O6?O5FEO G4EFLN >5M5>5D47>-
64F5?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O. 
 �E>5>5 7=4G5=<5 4<EF<??<=4 <<55F ?D< D>D<<D>64=<< < D476<F<< �� 
01, �� 02, �� 04, �� 05, �� 07, �� 09. 
 
1.3. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O: 
 'G55=4O 4<EF<??<=4 «�4F5D<4?>6545=<5» >55E?5G<645F D>D<<D>64-
=<5 M?5<5=F>6 ?D>D5EE<>=4?L=OE < >5M<E >><?5F5=F<= ?> 6<44< 45OF5?L-
=>EF< $��% %��. 

� D57G?LF4F5 >E6>5=<O GG55=>= 4<EF<??<=O >5GG4NM<=EO >E64<645F 
M?5<5=FO >5M<E >><?5F5=F<= (��): 
�� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4<. 
�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< 
<=D>D<4F<< < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G ?D>D5EE<-
>=4?L=>= 45OF5?L=>EF<. 
�� 04. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45. 
�� 05. �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 7>EG44DEF65=-
=>< O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= E>F<4?L=>7> < >G?L-
FGD=>7> >>=F5>EF4. 
�� 07. %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, D5EGDE>E55D565=<N, 
?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, ?D<=F<?O 55D56?<6>7> ?D><76>4-
EF64, MDD5>F<6=> 45=EF6>64FL 6 GD576OG4==OE E<FG4F<OE. 
�� 09. �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 7>EG44DEF65==>< < 
<=>EFD4==>< O7O>4E. 
 �5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<= (��), M?5<5=FO >>F>DOE 
D>D<<DGNFEO 6 D4<>4E 4<EF<??<=O: 
�� 1.1. �EGM5EF6?OFL >D74=<74F<>==>- ?D><76>4EF65==O5 D45>FO 4?O ?>4-
7>F>6>< E5>D>< < <>=F464 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < 
E<EF5<. 
�� 1.3. �D><76>4<FL >F5=>G E>EF>O=<O 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5< ?>E?5 6O?>?=5=<O =4?44>G=OE D45>F, >>=FD>?L F5E=<G5-
E>>7> E>EF>O=<O >5>DG4>64=<O ?D< 66>45 6 M>E??G4F4F<N.  



�� 2.1. �D><76>4<FL 4<47=>EF<>G E>EF>O=<O 7<4D46?<G5E><E < ?=56<4F<G5-
E><E GEFD>=EF6 < E<EF5<. 
�� 2.4. �D><76>4<FL D45>FO ?> >D74=<74F<>==><G >55E?5G5=<N < ?D>6545-
=<N ??4=>6OE < =5??4=>6OE D5<>=F>6 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<. 
�� 4.1. �?D545?OFL >?F<<4?L=O5 <5F>4O 6>EEF4=>6?5=<O D45>F>E?>E>5=>EF< 
7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O. 
 
 � D4<>4E ?D>7D4<<O GG55=>= 4<EF<??<=O >5GG4NM<<<EO >E64<64NFEO 
E?54GNM<5 G<5=<O < 7=4=<O. 

�>4 
��, 
�� 

'<5=<O 
 

�=4=<O 

�� 1.1, 
�� 1.3, 
�� 2.1, 
�� 2.4, 
�� 4.1. 
��01, 
��02, 
��04, 
��05, 
��07, 
�� 09. 
 

- D4E?>7=464FL < >?4EE<D<-
F<D>64FL >>=EFDG>F<>==O5 
< EODL56O5 <4F5D<4?O ?> 
6=5L=5<G 6<4G, ?D><EE>6-
45=<N, E6>=EF64<; 
-  >?D545?OFL 6<4O >>=-
EFDG>F<>==OE <4F5D<4?>6; 
- 6O5<D4FL <4F5D<4?O 4?O 
>>=EFDG>F<= ?> <E =47=4G5-
=<N < GE?>6<O< M>E??G4F4-
F<<; 
-  ?D>6>4<FL <EE?54>64=<O < 
<E?OF4=<O <4F5D<4?>6; 
-  >5D454FO64FL 45F4?< <7 
>E=>6=OE <4F5D<4?>6. 
 

- 74>>=><5D=>EF< ?D>F5EE>6 >D<EF4?-
?<74F<< < EFDG>FGD>>5D47>64=<O <5-
F4??>6 < E??46>6, >E=>6O <E F5D<>-
>5D45>F><, E?>E>5O 74M<FO <5F4??>6 
>F >>DD>7<<; 
- >?4EE<D<>4F<N < E?>E>5O ?>?GG5-
=<O >><?>7<F<>==OE <4F5D<4?>6; 
- ?D<=F<?O 6O5>D4 >>=EFDG>F<>==OE 
<4F5D<4?>6 4?O ?D<<5=5=<O 6 ?D><7-
6>4EF65; 
- EFD>5=<5 < E6>=EF64 <5F4??>6, <5-
F>4O <E <EE?54>64=<O; 
- >?4EE<D<>4F<N <4F5D<4?>6, <5F4?-
?>6 < E??46>6, >5?4EF< <E ?D<<5=5-
=<O; 
- E?>E>5O >5D45>F>< <4F5D<4?>6. 

 
2. %&$'�&'$� � %���$����� ''����� ��%&�����/ 

2.1. �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 
 

�<4 GG55=>= D45>FO �5NU< G4-
E>6 

�5NU< >5D47>64F5?L=>= ?D>7D4<<O GG55=>= 4<EF<??<=O 76 
�5O74F5?L=4O 4G4<F>D=4O GG55=4O =47DG7>4 (6E57>)   
6 F>< G<E?5 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6><: 46 
� F>< G<E?5  

&5>D5F<G5E>>5 >5GG5=<5 30 
�D4>F<G5E><5 74=OF<O 46 
�D><56GF>G=4O 4FF5EF4F<O 6 D>D<5 4<DD5D5=F<D>64==>7> 74GUF4 



2.2. &5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O ��&�$����������� 
�4<<5=>64=<5 
D4745?>6 < F5< 

 

%>45D64=<5 GG55=>7> <4F5D<4?4 < D>D<O >D74=<74F<< 45OF5?L=>EF< 
>5GG4NM<EEO 

 

�5N5< 4>44. 
G4E./ 6 F>< 

G<E?5 6 D>D-
<5 ?D4>F<G5-
E>>= ?>47>-
F>6>< 4>44. 

G4E. 

�>4O >><?5F5=-
F<< ?<G=>EF=OE 

D57G?LF4F>6, 
D>D<<D>64=<N 
>>F>DOE E?>E>5-
EF6G5F M?5<5=F 

?D>7D4<<O 
1 2 3 4 

$4745? 1. 
�5F4??>6545=<5 

 28/16  

&5<4 1.1. %FD>5-
=<5 < >D<EF4??<-
74F<O <5F4??>6 < 

E??46>6. 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4 �� 01, 02, 04, 
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 
 
 
 
 

�6545=<5. �=4G5=<5 < E>45D64=<5 4<EF<??<=O. �?4EE<D<>4F<O 
<5F4??>6. �D4F><= >57>D E?>E>5>6 ?>?GG5=<O GUD=OE < F65F=OE 
<5F4??>6. 
�F><=>->D<EF4??<G5E>>5 EFD>5=<5 <5F4??>6 < E??46>6. �D<EF4?-
?<74F<O <5F4??>6 < E??46>6. %FD>5=<5 <5F4??<G5E>>7> E?<F>4.  
�?<O=<5 ??4EF<G5E>>= 45D>D<4F<< < ?>E?54GNM57> =47D564 =4 
EFDG>FGDG <5F4??>6 < E??46>6. �>=OF<5 > =4>?U?5 < D5>D<EF4??<-
74F<<. 

 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O 4/4 
�D4>F<G5E>>5 74=OF<5 1. �5F>4O >?D545?5=<O E6>=EF6 <4F5D<-
4?>6 
�D4>F<G5E>>5 74=OF<5 2. �?D545?5=<5 F65D4>EF< <5F4??>6 < 
E??46>6 <5F>4>< �D<==5?O ($>>65??4) 

&5<4 1.2. �E=>6O 
F5>D<< E??46>6, 
4<47D4<<O E>-

EF>O=<O E??46>6. 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 12/8 �� 01, 02, 04, 
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.3 
�� 4.1 

%FD>5=<5 <5F4??<G5E><E E??46>6. &<?O 674<<>>F=>L5=<O >><-
?>=5=F>6 6 E??465. 
�>=OF<5 > 4<47D4<<5 E>EF>O=<O E??46>6. 
�<47D4<<4 E>EF>O=<O «65?57>-G7?5D>4». %FDG>FGD=O5 E>EF46?O-

 



NM<5 65?57>G7?5D>4<EFOE E??46>6, D47O, ?<=<<, F>G><, >5?4EF< 
4<47D4<<O. �?D545?5=<5 >D<F<G5E><E F>G5> EF4?5= < GG7G=>6 ?> 
4<47D4<<5. $47>6O5 ?D56D4M5=<O 6 EF4?<. $47>6O5 ?D56D4M5=<O 
6 GG7G=5. 

 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O 8/8 
�D4>F<G5E>>5 74=OF<5 3. �<>D>EFDG>FGDO EF4?5= 
�D4>F<G5E>>5 74=OF<5 4. �<>D>EFDG>FGDO GG7G=>6 
�D4>F<G5E>>5 74=OF<5 5. �<47D4<<4 E>EF>O=<O «�5?57> G7?5-
D>4» 

&5<4 1.3. &5D<<-
G5E>4O < E<<<>>-
F5D<<G5E>4O >5-
D45>F>4 <5F4?-
?>6 < E??46>6. 

 

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4 �� 01, 02, 04, 
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�?D545?5=<5 < >?4EE<D<>4F<O 6<4>6 F5D<>>5D45>F><. �D56D4-
M5=<O 6 EF4?< ?D< =47D565 < >E?4645=<<. �<4O F5D<<G5E>>= >5-
D45>F><: >F6<7, =>D<4?<74F<O, 74>4?>4, >F?GE> 74>4?U==OE EF4-
?5=, EF4D5=<5. �>65DE=>EF=>5 G?D>G=5=<5 EF4?<. 
%<<<>>-F5D<<G5E>4O >5D45>F>4 EF4?5=: 6<4O, =47=4G5=<5, ?D>-
F5EEO. 

 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O 4/4 
�D4>F<G5E>>5 74=OF<5 6. &5D<<G5E>4O >5D45>F>4 EF4?5= < E??4-
6>6 

 

�D4>F<G5E>>5 74=OF<5 7. %<<<>>-F5D<<G5E>4O >5D45>F>4 EF4-
?5= 

 

$4745? 2. �4F5-
D<4?O, ?D<<5=O-
5<O5 6 <4L<=>-

EFD>5=<< 

 36/10  

&5<4 2.1. %??46O %>45D64=<5 GG55=>7> <4F5D<4?4 24/10 �� 01, 02, 04, 



GUD=OE < F65F-
=OE  <5F4??>6. 

 

�?4EE<D<>4F<O G7?5D>4<EFOE EF4?5=. �?<O=<5 E>45D64=<O G7?5-
D>44 < ?>EF>O==OE ?D<<5E5= =4 E6>=EF64 G7?5D>4<EFOE EF4?5=. 
�4D><D>6>4 EF4?5= ?> ��%&G, E6>=EF64, ?D<<5=5=<5.  
�?4EE<D<>4F<O GG7G=>6. �?<O=<5 ?>EF>O==OE ?D<<5E5= =4 E6>=-
EF64 < EFDG>FGDG GG7G=4. �4D><D>6>4 GG7G=>6 ?> ��%&G, EFDG>-
FGD4, E6>=EF64, ?D<<5=5=<5.  
�?<O=<5 ?57<DGNM<E M?5<5=F>6 =4 E6>=EF64 EF4?5=. �?4EE<D<-
>4F<O ?57<D>64==OE EF4?5=, E>EF46, E6>=EF64, <4D><D>6>4 ?> 
��%&G, ?D<<5=5=<5. %F4?< < E??46O E >E>5O<< E6>=EF64<<, 
<4D><D>6>4 ?> ��%&G, ?D<<5=5=<5. 
&65F=O5 <5F4??O < E??46O, <E E6>=EF64, <4D><D>6>4 ?> ��%&G, 
?D<<5=5=<5. 

 05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O 10 
�D4>F<G5E>>5 74=OF<5 8. �D><76>4EF6> G5D=OE < F65F=OE <5-
F4??>6. 
�D4>F<G5E>>5 74=OF<5 9. �O5>D 6<44 < D56<<4 F5D<<G5E>>= 
>5D45>F>< EF4?5= . 
�D4>F<G5E>>5 74=OF<5 10. �EE?54>64=<5 EFDG>FGDO < E6>=EF6 
?57<D>64==OE EF4?5=. 

&5<4 2.2. �>D>L-
>>6O5 <4F5D<4-

?O. 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/- �� 01, 02, 04, 
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�>=OF<5 > ?>D>L>>6>= <5F4??GD7<<. %6>=EF64, <4D><D>6>4 ?> 
��%&G, ?D<<5=5=<5 ?>D>L>>6OE <4F5D<4?>6. 

 

&5<4 2.3. 
�><?>7<F<>==O5 

<4F5D<4?O. 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/- �� 01, 02, 04, 
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�>=OF<5 > >><?>7<F<>==OE <4F5D<4?4E, >?4EE<D<>4F<O, EFD>5-
=<5, E6>=EF64,  ?D<<5=5=<5. 

 



&5<4 2. 4. 
�5<5F4??<G5E><5 

<4F5D<4?O. 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/- �� 01, 02, 04, 
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 
 

�?4EF<4EEO, <E >?4EE<D<>4F<O, E6>=EF64, ?D<<5=5=<5.  
$57<=O, <E >?4EE<D<>4F<O, E6>=EF64, ?D<<5=5=<5.  
�5>D74=<G5E>>5 EF5>?>, EFDG>FGD4, E>EF46.  �5M<5 E6545=<O > 
>5D4<<>5.  
�?5=>>>5D47GNM<5 <4F5D<4?O, 74M<F=O5 <4F5D<4?O. 

 

- �D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O    
&5<4 2.5. �>DD>-
7<O <5F4??>6 < 

E??46>6. 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/- �� 01, 02, 04,  
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

%GM=>EFL ?D>F5EE4 >>DD>7<<. �<4O >>DD>7<<. %?>E>5O 74M<FO 
<5F4??4 >F >>DD>7<<. 

 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O - 

$4745? 3. &5E=>-
?>7<O >5D45>F>< 
< <77>F>6?5=<O 

747>F>6>> < 45F4-
?5= 

 12/4  

&5<4 3.1.  
�<F5==>5 

?D><76>4EF6>  
 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/- �� 01, 02, 04,  
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�5M<5 E6545=<O > ?D>F5EE5 ?<FLO. �<FLU 6 D47>6O5 D>D<O. %?5-
F<4?L=O5 E?>E>5O ?<FLO. &D55>64=<O, ?D54NO6?O5<O5 > ?<F5=-
=O< E??464<. 

 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O - 
&5<4 3.2.  

�5D45>F>4 
<5F4??>6 

446?5=<5< 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/-  
�E=>6=O5 >?5D4F<<, <=EFDG<5=FO < >5>DG4>64=<5 4?O >5D45>F>< 
446?5=<5<. %GM=>EFL F5E=>?>7<G5E><E ?D>F5EE>6. �>EF><=EF64 
< =54>EF4F><. �D<<5DO >5D45>F>< 446?5=<5< 6 4>D>6=>= F5E=<-
>5. 

 �� 01, 02, 04,  
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 �D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O - 

&5<4 3.3.  %>45D64=<5 GG55=>7> <4F5D<4?4 2/- �� 01, 02, 04,  



%64D>4, D57>4, 
?4=>4 < =4??46-
>4 <5F4??>6 

&<?O E64D=OE E>54<=5=<= < L6>6. &D55>64=<O, ?D54NO6?O5<O5 > 
>4G5EF6G E64D>G=>7> L64. �E>5O5 E?>E>5O E64D><. $57>4 <5F4?-
?>6. &5E=<>4 557>?4E=>EF< ?D< ?D>6545=<< E64D>G=OE D45>F < 
D57>< <5F4??>6. �4=>4 <5F4??>6. �>EEF4=>6?5=<5 < G?D>G=5=<5 
45F4?5= =4??46>>=. 

 05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O - 
&5<4 3.4.  

�5D45>F>4 <5-
F4??>6 D574=<5<.  
-?5>FD<G5E><5 
E?>E>5O >5D4-

5>F>< <5F4??>6 
. 

 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/4 �� 01, 02, 04,  
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�>=OF<5 > ?D>F5EE5 D574=<O, 46<65=<O ?D< D574=<< <5F4??>6, 
75><5FD<O D57F>6. �O5>D <=EFDG<5=F4. �EE>4=O5 44==O5 < ?>-
DO4>> >?D545?5=<O >?F<<4?L=OE D56<<>6 D574=<O. 
�?4EE<D<>4F<O <5F4??>D56GM<E EF4=>>6 ?> F5E=>?>7<G5E><<, 
>>=EFDG>F<6=O< < 7DG??>6O< ?D<7=4>4<, ?> F>G=>EF< < EF5?5=< 
E?5F<4?<74F<<. �E=>6=O5 G7?O EF4=>>6. 'E?>6=O5 >5>7=4G5=<O 
><=5<4F<G5E><E ?4D < 45F4?5= G7?>6 EF4=>4. 
$45>FO, 6O?>?=O5<O5 =4 F>>4D=>-6<=F>D57=OE, EFD>74?L=OE, 
4>?5U6=OE, ?D>FO6=OE, >DG7?>L?<D>64?L=OE EF4=>4E. �D<U<O 
6O?>?=5=<O >5M5E?5E4D=OE D45>F. &D55>64=<O > >4G5EF6G >5D4-
5>F>< 45F4?5=. 
�>=OF<5 >5 M?5>FD<G5E><E E?>E>54E >5D45>F>< <5F4??4. �D<<5-
=5=<5 M?5>FD<G5E><E E?>E>5>6 >5D45>F>< <5F4??>6 
�D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O 4/4 
�D4>F<G5E>>5 74=OF<5 11. $4EG5F ?4D4<5FD>6 D574=<O < D47D4-
5>F>4 >?5D4F<>==>= >4DFO ?> DD575D=>= >5D45>F>5. 

�D><56GF>G=4O 4FF5EF4F<O 3 4<DD5D5=F<D>64==O= 74G5F - �� 01, 02, 04,  
05, 07, 09  
�� 1.1, ��1.3 
�� 2.1, ��2.4 
�� 4.1 

�E57>  76/30  



3. '%����/ $������&�� ''����� ��%&�����/ 
3. '%����/ $������&�� ''����� ��%&�����/ 

3. '%����/ $������&�� ''����� ��%&�����/ 
3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5-
=<N 

$54?<74F<O GG55=>= 4<EF<??<=O FD55G5F =4?<G<O GG55=>7> >45<=5F4 
�4F5D<4?>6545=<5.  

�5>DG4>64=<5 GG55=>7> >45<=5F4: D45>G55 <5EF> ?D5?>4464F5?O, >><-
??5>F GG55=>= <555?< =4 25 ?>E44>G=OE <5EF, >?4EE=4O 4>E>4, GG55=>5 <5F>-
4<G5E>>5 >55E?5G5=<5.  

&5E=<G5E><5 ED54EF64 >5GG5=<O: 46F><4F<7<D>64==>5 D45>G55 <5EF> E 
?>4>?NG5=<5< > E5F< �=F5D=5F: >><?LNF5D 6 E5>D5, <>=<F>D, <=F5D4>F<6=4O 
4>E>4, ?D>5>F>D. 
  
3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
�5D5G5=L GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= 
?<F5D4FGDO 
4) >E=>6=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1 �4F5D<4?>6545=<5 <4L<=>EFD><F5?L=>7> ?D><76>4EF64. � 2 G. 
'4EFL 1 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / 
�. �. �44E><=, .. �. %54>6, �. �. �=57<=4, �. �. �?<<>6. 4 2-5 
<74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 
258 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
08154-1. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/474751 (44F4 >5D4M5=<O: 15.02.2025). 

2 �4F5D<4?>6545=<5 <4L<=>EFD><F5?L=>7> ?D><76>4EF64. � 2 G. 
'4EFL 2 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / 
�. �. �44E><=, .. �. %54>6, �. �. �=57<=4, �. �. �?<<>6. 4 2-5 
<74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 
291 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
08156-5. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/474753 (44F4 >5D4M5=<O: 15.02.2025). 

3 �4F5D<4?>6545=<5 < F5E=>?>7<O <4F5D<4?>6. � 2 G. '4EFL 1 : GG55-
=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $5F<E>6 
[< 4D.] ; ?>4 D544>F<5= �. �. $5F<E>64. 4 8-5 <74., ?5D5D45. < 
4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 386 E. 4 (�D>D5E-
E<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09896-9. 4 &5>EF : 
M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/475384 (44F4 >5D4M5=<O: 15.02.2025). 

4 �4F5D<4?>6545=<5 < F5E=>?>7<O <4F5D<4?>6. � 2 G. '4EFL 2 : GG55-
=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $5F<E>6 
[< 4D.] ; ?>4 D544>F<5= �. �. $5F<E>64. 4 8-5 <74., ?5D5D45. < 
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4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 389 E. 4 (�D>D5E-
E<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09897-6. 4 &5>EF : 
M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/475385 (44F4 >5D4M5=<O: 15.02.2025). 

5 �GDFO>>6, �. �. �5F4??>D56GM<5 EF4=><. $4EG5F < ?D>5>F<D>64-
=<5 : GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64-
=<O / �. �. �GDFO>>6. 4 2-5 <74.4 �>E>64 : �744F5?LEF6> .D4=F, 
2021. 4 135 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-
5-534-08481-8. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/470926 (44F4 >5D4M5=<O: 15.02.2025). 

5) �>?>?=<F5?L=O5 <EF>G=<><:  
7 
?/? 

�EF>G=<> 

1 $O5L56, �. �.  %FD><F5?L=>5 <4F5D<4?>6545=<5 6 2 G. '4EFL 1 : 
GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / 
�. �. $O5L56. 4 4-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2021. 4 275 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 
ISBN 978-5-534-09336-0. 4 &5>EF : M?5>FD>==O= // -�% .D4=F 
[E4=F]. 4 URL: https://urait.ru/bcode/474188 (44F4 >5D4M5=<O: 
15.02.2025). 

2 $O5L56, �. �.  %FD><F5?L=>5 <4F5D<4?>6545=<5 6 2 G. '4EFL 2 : 
GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / 
�. �. $O5L56. 4 4-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2021. 4 429 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 
ISBN 978-5-534-09338-4. 4 &5>EF : M?5>FD>==O= // -�% .D4=F 
[E4=F]. 4 URL: https://urait.ru/bcode/474189 (44F4 >5D4M5=<O: 
15.02.2025). 

3 $>7>6, �. �. &5E=>?>7<O <4L<=>EFD>5=<O : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $>7>6. 4 2-5 <74., <E?D. < 
4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 351 E. 4 (�D>D5E-
E<>=4?L=>5 >5D47>64=<5). 4 ISBN978-5-534-10932-0. 4 &5>EF : 
M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL:https://urait.ru/bcode/475997 (44F4 >5D4M5=<O: 15.02.2025). 

4 %<=5?L=<>>6 �.$. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F ?D><OL-
?5==>7> >5>DG4>64=<O: GG55=<> / �.$.%<=5?L=<>>6. 3 �>E>64 : 
�>445<<O, 2018. 3 336 E. 3 ISBN 978-5-4468-7319-7. 3 &5>EF: =5?>-
ED54EF65==O=. 

5 %FD55>>6 %.�. &5E=>?>7<O D5<>=F4 <4L<=: GG55=<> / %.�. 
%FD55>>6, �.�. %47=>6. 3 �>E>64 : ��$$�-�, 2019. 3 222 E. 3 
ISBN 978-5-16-012288-5.3 &5>EF: =5?>ED54EF65==O=. 

6) ?5D<>4<G5E><5 <744=<O  
7 
?/? 

�EF>G=<> 

1 �EF5EF65==O5 < F5E=<G5E><5 =4G>< : =4GG. 6GD=4?  / 7?. D54. �. /. 
%46><=. 3 �>E>64 :  ��� "�744F5?LEF6> "%?GF=<>+", 2002 4 .4 
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�OE>4<F 12 D47 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 1684 3 2626. 3 &5>EF : 
=5?>ED54EF65==O=. 

2 &�%������/ ��,���%&$����/ � ��&�$����������� : 
=4GG=O= 6GD=4? / GGD54<F5?L : �4GG=>-<EE?54>64F5?LE><= F5=FD 
«�4L<=>%FD>5=<5»  3 �>6>>G7=5F> : �4GG=>-<EE?54>64F5?LE><= 
F5=FD «�4L<=>%FD>5=<5» , 2017 4 . 3 �OE>4<F 1 D474 6 7>4. ISSN 
?5G4F=>= 65DE<< 2542-2146.  3 &5>EF : M?5>FD>==O=  // -�% elibrary 
[E4=F]. 4 URL : https : //elibrary.ru (44F4 >5D4M5=<O: 15.05.2023) 

7) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO 
7 
?/? 

�EF>G=<> 

1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> 
��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. 
�=65=5D=>-F5E=<G5E><5 =4G>< (&N<�') www.e.lanbook.com   

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: 
�5M5EF6> E >7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU)  
https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www.urait.ru   
4. ���&$��, � �&���� $��'�,&�&�� �%�����/ ''����� 

��%&�����/ 
�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O GG55=>= 4<EF<??<=O >EGM5EF6?O-
5FEO ?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 74=OF<= < ?45>D4-
F>D=OE D45>F, F5EF<D>64=<O, 4 F4>65 6O?>?=5=<O >5GG4NM<<<EO <=4<6<4G-
4?L=OE 7444=<=. 

�>4 
��, 
�� 

'<5=<O 
 

�=4=<O 

�� 1.1, 
�� 1.3, 
�� 2.1, 
�� 2.4, 
�� 4.1. 
��01, 
��02, 
��04, 
��05, 
��07, 
�� 09. 
 

- D4E?>7=464FL < >?4EE<D<-
F<D>64FL >>=EFDG>F<>==O5 
< EODL56O5 <4F5D<4?O ?> 
6=5L=5<G 6<4G, ?D><EE>6-
45=<N, E6>=EF64<; 
-  >?D545?OFL 6<4O >>=-
EFDG>F<>==OE <4F5D<4?>6; 
- 6O5<D4FL <4F5D<4?O 4?O 
>>=EFDG>F<= ?> <E =47=4G5-
=<N < GE?>6<O< M>E??G4F4-
F<<; 
-  ?D>6>4<FL <EE?54>64=<O < 
<E?OF4=<O <4F5D<4?>6; 
-  >5D454FO64FL 45F4?< <7 
>E=>6=OE <4F5D<4?>6. 

- 74>>=><5D=>EF< ?D>F5EE>6 >D<EF4?-
?<74F<< < EFDG>FGD>>5D47>64=<O <5-
F4??>6 < E??46>6, >E=>6O <E F5D<>-
>5D45>F><, E?>E>5O 74M<FO <5F4??>6 
>F >>DD>7<<; 
- >?4EE<D<>4F<N < E?>E>5O ?>?GG5-
=<O >><?>7<F<>==OE <4F5D<4?>6; 
- ?D<=F<?O 6O5>D4 >>=EFDG>F<>==OE 
<4F5D<4?>6 4?O ?D<<5=5=<O 6 ?D><7-
6>4EF65; 
- EFD>5=<5 < E6>=EF64 <5F4??>6, <5-
F>4O <E <EE?54>64=<O; 
- >?4EE<D<>4F<N <4F5D<4?>6, <5F4?-
?>6 < E??46>6, >5?4EF< <E ?D<<5=5-
=<O; 
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 - E?>E>5O >5D45>F>< <4F5D<4?>6. 
$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< $>D<O < <5F>4O >>=-

FD>?O < >F5=>< D5-
7G?LF4F>6 

'<5=<O 
- D4E?>7=464FL < >?4EE<-
D<F<D>64FL >>=EFDG>-
F<>==O5 < EODL56O5 <4-
F5D<4?O ?> 6=5L=5<G 
6<4G, ?D><EE>645=<N, 
E6>=EF64<; 
-  >?D545?OFL 6<4O >>=-
EFDG>F<>==OE <4F5D<4-
?>6; 
- 6O5<D4FL <4F5D<4?O 
4?O >>=EFDG>F<= ?> <E 
=47=4G5=<N < GE?>6<O< 
M>E??G4F4F<<; 
-  ?D>6>4<FL <EE?54>64-
=<O < <E?OF4=<O <4F5-
D<4?>6; 
-  >5D454FO64FL 45F4?< 
<7 >E=>6=OE <4F5D<4?>6. 
 

- ?D>G=>EFL 7=4=<=, G<5-
=<= < =46O>>6 (7>F>6=>EFL 
6>E?D><76>4<FL EGM5-
EF65==O5 >><?>=5=FO 
GG55=>= 45OF5?L=>EF<); 
- ?D46<?L=>EFL (G<5=<O < 
=46O>< GEF=> < ?<EL<5==> 
<7?474FL GG55=O= <4F5D<-
4? < 45?4FL MF> 557 >L<-
5>>). 

&5>GM<= >>=FD>?L  
6 D>D<5:  
- =45?N45=<O 74 6O-
?>?=5=<5< 7444=<= < 
>F5=>< =4 ?D4>F<G5-
E><E 74=OF<OE; 
- D5L5=<5  
E<FG4F<>==OE 7444G; 
- >5EG645=<5 ?D4>F<-
G5E><E E<FG4F<=. 
 
�D><56GF>G=4O 4FF5-
EF4F<O 6 D>D<5:  
- M>74<5=4 (>F5=>4 D5-
7G?LF4F>6 D5L5=<O 
7444G) 

�=4=<O 
-74>>=><5D=>EF< ?D>-
F5EE>6 >D<EF4??<74F<< < 
EFDG>FGD>>5D47>64=<O 
<5F4??>6 < E??46>6, >E-
=>6O <E F5D<>>5D45>F-
><, E?>E>5O 74M<FO <5-
F4??>6 >F >>DD>7<<; 
->?4EE<D<>4F<N < E?>-
E>5O ?>?GG5=<O >><?>-
7<F<>==OE <4F5D<4?>6; 
-?D<=F<?O 6O5>D4 >>=-
EFDG>F<>==OE <4F5D<4-
?>6 4?O ?D<<5=5=<O 6 
?D><76>4EF65; 
-EFD>5=<5 < E6>=EF64 <5-
F4??>6, <5F>4O <E <E-
E?54>64=<O; 
->?4EE<D<>4F<N <4F5-
D<4?>6, <5F4??>6 < 

- ?>?=>F4 7=4=<= (>5N5< 
7=4=<= 6 E>>F65FEF6<< E 
?D>7D4<<>=); 
- >E>7=4==>EFL 7=4=<= 
(6O45?5=<5 6 <4F5D<4?5 
7?46=>7>, <E?>?L7>64=<5 
?D<5<>6 4=4?<74, ED46=5-
=<O, >5>5M5=<O, <7?>65-
=<O 7=4=<= E6><<< E?>64-
<<, ?D<6545=<5 ?D<<5D>6, 
4>>474F5?LEF6); 
- 45=EF65==>EFL 7=4=<= 
(7>F>6=>EFL ?>?L7>64FLEO 
<<< ?D< D5L5=<< 7444G, 
?D<<5D>6, 6O?>?=5=<< 
G?D46=5=<=, FDG4>6OE 74-
44=<=, ?D4>F<G5E><E D4-
5>F); 
- ?D>G=>EFL 7=4=<= (7>-

&5>GM<= >>=FD>?L  
6 D>D<5:  
- M>E?5DF=>= >F5=>< 
6O?>?=5=<O ?D4>F<-
G5E>>= D45>FO; 
- GEF=>7> >?D>E4;  
- F5EF<D>64=<O. 

 
�D><56GF>G=4O 4FF5-
EF4F<O 6 D>D<5:  
- M>74<5= (>F5=>4 D5-
7G?LF4F>6 >F65F4 =4 
6>?D>EO)  
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E??46>6, >5?4EF< <E 
?D<<5=5=<O; 
-E?>E>5O >5D45>F>< 
<4F5D<4?>6. 

F>6=>EFL 6>E?D><76>4<FL 
EGM5EF65==O5 >><?>=5=-
FO GG55=>= 45OF5?L=>EF<); 
- 7>F>6=>EFL > F6>DG5E>>= 
45OF5?L=>EF< (?D>O6?5=<5 
F6>DG5E>>7> ?>4E>44 > 
D4E>DOF<N <4F5D<4?4, 4>-
744?<6>EF<, E>>5D47<F5?L-
=>EF<). 
�D<F5D<< D>D<<D>64=<O 
>F5=>< 74 GEF=O= >F65F: 
�F5=>4 «5 (>F?<G=>)» EF4-
6<FEO, 5E?< >5GG4NM<=EO: 
?>?=> < 4D7G<5=F<D>64=> 
>F65G45F ?> E>45D64=<N 
6>?D>E4; >5=4DG6<645F 
?>=<<4=<5 <4F5D<4?4,  
�F5=>4 «4 (E>D>L>)» EF4-
6<FEO, 5E?< >5GG4NM<=EO 
445F >F65F, G4>6?5F6>DO-
NM<= F5< 65 FD55>64=<-
O<, GF> < 4?O >F5=>< «5», 
=> 4>?GE>45F 1-2 >L<5><, 
>>F>DO5 E4< 65 <E?D46?O-
5F. 
�F5=>4 «3 (G4>6?5F6>D<-
F5?L=>)» EF46<FEO, 5E?< 
>5GG4NM<=EO >5=4DG6<-
645F 7=4=<5 < ?>=<<4=<5 
>E=>6=OE ?>?>65=<= F5-
<O, =>: <7?4745F <4F5D<4? 
=5?>?=> < 4>?GE>45F =5-
F>G=>EF< 6 >?D545?5=<< 
?>=OF<=; =5 G<55F 4>EF4-
F>G=> 7?G5>>> < 4>>474-
F5?L=> >5>E=>64FL E6>< 
EG645=<O < ?D<65EF< E6>< 
?D<<5DO; <7?4745F <4F5-
D<4? =5?>E?54>64F5?L=> < 
4>?GE>45F >L<5><. 
�F5=>4 «2 (=5G4>6?5F6>-
D<F5?L=>)» EF46<FEO, 5E?< 
>5GG4NM<=EO >5=4DG6<-
645F =57=4=<5 >F65F4 =4 
E>>F65FEF6GNM55 7444=<5, 
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4>?GE>45F >L<5>< 6 D>D-
<G?<D>6>5 >?D545?5=<= < 
?D46<?, <E>464NM<5 <E 
E<OE?, 55E?>DO4>G=> < 
=5G65D5==> <7?4745F <4F5-
D<4?. 
�D<F5D<< >F5=>< D57G?L-
F4F>6 M>74<5=4 
«5» - 85-100% 65D=OE >F-
65F>6 
«4» - 69-84% 65D=OE >F65-
F>6 
«3» - 51-68% 65D=OE >F65-
F>6 
«2» - 50% < <5=55 

$47D45>FG<>:     
 
%�� ��$�     ?D5?>4464F5?L ________________        �. �. �>F>64 
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2.2. �D<<5D=O= F5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O «�4F5D<4?>6545=<5» 
�4<<5=>64=<5 D4745?>6 < 

F5<, D>D<<DG5<O5 �� < �� 
%>45D64=<5 GG55=>7> <4F5D<4?4, ?45>D4F>D=O5 D45>FO < ?D4>F<G5E><5 74=OF<O, E4<>EF>OF5?L=4O D45>F4 

>5GG4NM<EEO 
�5N5< 
G4E>6 

'D>65=L 
>E6>5=<O 

1 2 3 4 
$4745? 1. �5F4??>6545=<5  57  

&5<4 1.1. %FD>5=<5 < >D<-
EF4??<74F<O <5F4??>6 < 

E??46>6. 
�� 1,2,5,6. 
�� 1.2. 
�� 1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 6 
1 �6545=<5. �=4G5=<5 < E>45D64=<5 4<EF<??<=O. �?4EE<D<>4F<O <5F4??>6. �D4F><= >57>D E?>E>5>6 ?>?GG5=<O 

GUD=OE < F65F=OE <5F4??>6. 
1 

2 �F><=>->D<EF4??<G5E>>5 EFD>5=<5 <5F4??>6 < E??46>6.  2 
3 �D<EF4??<74F<O <5F4??>6 < E??46>6. %FD>5=<5 <5F4??<G5E>>7> E?<F>4. 2 
4 �?<O=<5 ??4EF<G5E>>= 45D>D<4F<< < ?>E?54GNM57> =47D564 =4 EFDG>FGDG <5F4??>6 < E??46>6. �>=OF<5 > 

=4>?U?5 < D5>D<EF4??<74F<<. 
2 

�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O - 
�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
$45>F4 E =47?O4=O<< ?>E>5<O<< < <>45?O<<: 
- D45>F4 E >>??5>F<5= 7>D=OE ?>D>4: >?D545?5=<5 ?> 6=5L=5<G 6<4G, ?D><EE>645=<N, E6>=EF64< EODL56OE <4F5-
D<4?>6, ?D<<5=O5<OE 6 <5F4??GD7<<.(0,5G.) 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(1G.) 
- ?>47>F>6>4 >?>D=>7> >>=E?5>F4 ?> F5<5: «�EE>4=O5 <4F5D<4?O 4?O ?>?GG5=<O <5F4??>6»;(2G.) 
- <7GG5=<5 < 74D<E>6>4 <<>D>EFDG>FGD EF4?5=, GG7G=>6, <7GG5=<5 >F?5G4F>>6 E?<F>>6.(0,5G.)  

3 

&5<4 1.2. �5F>4O <7GG5=<O 
E>EF464, EFDG>FGDO < 

E6>=EF6 <5F4??>6. 
�� 1,2,5,6. 
�� 1.2. 
�� 1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 4 
1 $<7<G5E><5, E<<<G5E><5, <5E4=<G5E><5 E6>=EF64 <4F5D<4?>6. 1 

2 �5E4=<G5E><5 <E?OF4=<O. 3 

3 &5E=>?>7<G5E><5 <E?OF4=<O. 3 

4 %FDG>FGD=O5 <5F>4O <EE?54>64=<O <5F4??>6 < E??46>6. 2 
�45>D4F>D=O5 D45>FO  
�?D545?5=<5 <5E4=<G5E><E E6>=EF6 <4F5D<4?>6. 

4  

�D4>F<G5E><5 74=OF<O - 
�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(2G.) 
- >D>D<?5=<5 ?45>D4F>D=>= D45>FO, >FGUF4 < ?>47>F>6>4 > 5U 74M<F5.(2G.) 

4 

&5<4 1.3. �E=>6O F5>D<< 
E??46>6, 4<47D4<<O E>EF>-

O=<O E??46>6. 
�� 1,2,5,6. 

%>45D64=<5 GG55=>7> <4F5D<4?4 10 

1 %FD>5=<5 <5F4??<G5E><E E??46>6. &<?O 674<<>>F=>L5=<O >><?>=5=F>6 6 E??465. 2 
2 �>=OF<5 > 4<47D4<<5 E>EF>O=<O E??46>6. 2 
3 �<47D4<<4 E>EF>O=<O «65?57>-G7?5D>4». %FDG>FGD=O5 E>EF46?ONM<5 65?57>G7?5D>4<EFOE E??46>6, D47O, ?<- 3 
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�� 1.2. 
��1.3. 

=<<, F>G><, >5?4EF< 4<47D4<<O. 
4 �?D545?5=<5 >D<F<G5E><E F>G5> EF4?5= < GG7G=>6 ?> 4<47D4<<5.  3 
5 $47>6O5 ?D56D4M5=<O 6 EF4?<. 3 
6 $47>6O5 ?D56D4M5=<O 6 GG7G=5. 3 

�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O 
�<>D>EFDG>FGDO 65?57>G7?5D>4<EFOE E??46>6. 
�D>6545=<5 4=4?<74 E??46>6 >?D545?U==>= >>=F5=FD4F<< G7?5D>44 ?> 4<47D4<<5 «�5?57>-F5<5=F<F» E >?<E4=<5< 
?D>F5EE>6, ?D><EE>4OM<E ?D< <54?5==>< >E?4645=<<». 

6 

�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(2G) 
- >D>D<?5=<5 ?D4>F<G5E>>7> 74=OF<O, >FGUF4 < ?>47>F>6>4 > 57> 74M<F5;(2G.) 
- D45>F4 E 4<47D4<<4<< E>EF>O=<O E??46>6: >?D545?5=<5 ?D>F5=F=>7> E>45D64=<O >><?>=5=F>6, D47>6OE ?D56D4-
M5=<=, ?>EFD>5=<5 >D<6OE >E?4645=<O.(4G.) 

8 

&5<4 1.4. &5D<<G5E>4O < 
E<<<>>-F5D<<G5E>4O >5D4-
5>F>4 <5F4??>6 < E??46>6. 

�� 1,2,5,6. 
�� 1.2. 
��1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 6 
1 �?D545?5=<5 < >?4EE<D<>4F<O 6<4>6 F5D<>>5D45>F><.  2 
2 �D56D4M5=<O 6 EF4?< ?D< =47D565 < >E?4645=<<. 3 
3 �<4O F5D<<G5E>>= >5D45>F><: >F6<7, =>D<4?<74F<O, 74>4?>4, >F?GE> 74>4?U==OE EF4?5=, EF4D5=<5. 3 
4 �>65DE=>EF=>5 G?D>G=5=<5 EF4?<. 3 

�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O 
 �O5>D 6<44 F5D<>>5D45>F>< 4?O 45F4?< 6 746<E<<>EF< >F GE?>6<= 5U D45>FO. 

2 

�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(1G.) 
- ?>47>F>6>4 >?>D=>7> >>=E?5>F4 ?> F5<5: «�?<O=<5 F5D<>>5D45>F>< < E<<<>>-F5D<<G5E>>= >5D45>F>< =4 EFDG>FG-
DG < E6>=EF64 EF4?<»;(2G.) 
- >D>D<?5=<5 ?D4>F<G5E>>7> 74=OF<O, >FGUF4 < ?>47>F>6>4 > 57> 74M<F5.(1G.) 

4 

$4745? 2. �4F5D<4?O, ?D<-
<5=O5<O5 6 <4L<=>EFD>5-

=<< 

 45 

&5<4 2.1. %??46O GUD=OE < 
F65F=OE  <5F4??>6. 

�� 1,2,5,6. 
�� 1.2. 
��1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 12 
1 �?4EE<D<>4F<O G7?5D>4<EFOE EF4?5=. �?<O=<5 E>45D64=<O G7?5D>44 < ?>EF>O==OE ?D<<5E5= =4 E6>=EF64 G7?5-

D>4<EFOE EF4?5=. �4D><D>6>4 EF4?5= ?> ��%&G, E6>=EF64, ?D<<5=5=<5.  
2 

2 �?4EE<D<>4F<O GG7G=>6. �?<O=<5 ?>EF>O==OE ?D<<5E5= =4 E6>=EF64 < EFDG>FGDG GG7G=4. �4D><D>6>4 GG7G=>6 
?> ��%&G, EFDG>FGD4, E6>=EF64, ?D<<5=5=<5. 

2 

3 �?<O=<5 ?57<DGNM<E M?5<5=F>6 =4 E6>=EF64 EF4?5=. �?4EE<D<>4F<O ?57<D>64==OE EF4?5=, E>EF46, E6>=EF64, 2 
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<4D><D>6>4 ?> ��%&G, ?D<<5=5=<5. %F4?< < E??46O E >E>5O<< E6>=EF64<<, <4D><D>6>4 ?> ��%&G, ?D<<5=5-
=<5. 

4 &65F=O5 <5F4??O < E??46O, <E E6>=EF64, <4D><D>6>4 ?> ��%&G, ?D<<5=5=<5. 2 
�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O 
�O5>D <4D>< E??464 F65F=OE <5F4??>6 4?O 45F4?5= <4L<=. 
�O5>D  <4D>< ?57<D>64==>= EF4?< 4?O 45F4?5= 6 746<E<<>EF< >F >>=>D5F=OE GE?>6<= D45>FO. 

4 

�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(2G.) 
- D4EL<DD>6>4 <4D>> D47?<G=OE 6<4>6 EF4?5=, GG7G=>6, E??46>6 F65F=OE <5F4??>6;(4G.) 
- 6O5>D <4F5D<4?>6 4?O >>=EFDG>F<= < 45F4?5= 6 746<E<<>EF< >F =47=4G5=<O < GE?>6<= M>E??G4F4F<<. (2G.) 

8 

&5<4 2.2. �>D>L>>6O5 <4-
F5D<4?O. 

�� 1,2,5,6. 
�� 1.2. 
��1.3. 

 

%>45D64=<5 GG55=>7> <4F5D<4?4 2 
1 �>=OF<5 > ?>D>L>>6>= <5F4??GD7<<. %6>=EF64, <4D><D>6>4 ?> ��%&G, ?D<<5=5=<5 ?>D>L>>6OE <4F5D<4?>6. 1 

�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O - 
�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<), 6O5>D <4F5D<4?>6 4?O >>=EFDG>F<= < 45F4?5= 6 746<E<<>EF< 
>F =47=4G5=<O < GE?>6<= M>E??G4F4F<<; (0,5G.) 
- ?>47>F>6>4 >?>D=>7> >>=E?5>F4 ?> F5<5: «�>?GG5=<5 <745?<= <7 ?>D>L>>6».(0,5G.) 

1 

&5<4 2.3. �><?>7<F<>==O5 
<4F5D<4?O. 

�� 1,2,5,6. 
�� 1.2. 
��1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 2 
1 �>=OF<5 > >><?>7<F<>==OE <4F5D<4?4E, >?4EE<D<>4F<O, EFD>5=<5, E6>=EF64,  ?D<<5=5=<5. 1 

�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O - 
�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(0,5G.) 
- 6O5>D <4F5D<4?>6 4?O >>=EFDG>F<= < 45F4?5= 6 746<E<<>EF< >F =47=4G5=<O < GE?>6<= M>E??G4F4F<<. (0,5G.) 

1 

&5<4 2. 4. �5<5F4??<G5E><5 
<4F5D<4?O. 

�� 1,2,5,6. 
�� 1.2. 
��1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 6 
1 �?4EF<4EEO, <E >?4EE<D<>4F<O, E6>=EF64, ?D<<5=5=<5. 1 
2 $57<=O, <E >?4EE<D<>4F<O, E6>=EF64, ?D<<5=5=<5. 1 
3 �5>D74=<G5E>>5 EF5>?>, EFDG>FGD4, E>EF46.  �5M<5 E6545=<O > >5D4<<>5. 1 
4 �?5=>>>5D47GNM<5 <4F5D<4?O, 74M<F=O5 <4F5D<4?O. 1 
�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O - 
�>=FD>?L=O5 D45>FO - 
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%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(2G.) 
- 6O5>D <4F5D<4?>6 4?O >>=EFDG>F<= < 45F4?5= 6 746<E<<>EF< >F =47=4G5=<O < GE?>6<= M>E??G4F4F<<.(1G.) 

3 

&5<4 2.5. �>DD>7<O <5F4?-
?>6 < E??46>6. 

�� 1,2,5,6. 
�� 1.2. 
��1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 4  
1 %GM=>EFL ?D>F5EE4 >>DD>7<<. �<4O >>DD>7<<. %?>E>5O 74M<FO <5F4??4 >F >>DD>7<<.  1 

�45>D4F>D=O5 D45>FO -  
�D4>F<G5E><5 74=OF<O - 
�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: 
- ?D>D45>F>4 >>=E?5>F>6 74=OF<=, GG55=>= < E?5F<4?L=>= F5E=<G5E>>= ?<F5D4FGDO (?> 6>?D>E4< > ?4D47D4D4<, 7?4-
64< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<);(0,5G.) 
- ?>47>F>6>4 >?>D=>7> >>=E?5>F4 ?> F5<5: «�7=>E>EF>=><5 < >>DD>7<>==>-EF>=><5 ?>>DOF<O».(1,5G.) 

2 

$4745? 3. �5D45>F>4 <5F4?-
?>6 D574=<5<. 
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&5<4 3.1. �5M<5 E6545=<O > 
?D>F5EE5 D574=<O <5F4??>6. 
�� 1,2,5,6. 
�� 1.2. 
��1.3. 

%>45D64=<5 GG55=>7> <4F5D<4?4 8 
1 �>=OF<5 > ?D>F5EE5 D574=<O, 46<65=<O ?D< D574=<< <5F4??>6. �?4EE<D<>4F<O >E=>6=OE E?>E>5>6 >5D45>F>< 

<5F4??>6 D574=<5<, M?5<5=FO D574=<O. 
1 

2 �E=>6=O5 G4EF< < >>=EFDG>F<6=O5 M?5<5=FO F>>4D=>7> ?D>E>4=>7> D57F4, >E=>6=O5 G7?O F>>4D=>7> D57F4. 
�?4EE<D<>4F<O F>>4D=OE D57F>6. 

2 

3 $<7<G5E><5 >E=>6O ?D>F5EE4 D574=<O <5F4??>6. %<?O, 45=EF6GNM<5 =4 D575F ?D< D574=<<. 2 
4 �EE>4=O5 44==O5 < ?>DO4>> >?D545?5=<O >?F<<4?L=OE D56<<>6 D574=<O.  2 

�45>D4F>D=O5 D45>FO 
�?D545?5=<5 G7?>6 F>>4D=>7> D57F4. 

2  

�D4>F<G5E><5 74=OF<O 
�O5>D >?F<<4?L=>7> D56<<4 D574=<O ?D< <77>F>6?5=<< 45F4?<. 

2 

�>=FD>?L=O5 D45>FO - 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 4><4L=57> 7444=<O: �O?>?=5=<5 <=4<6<4G4?L=>7> ?D>5>F=>7> 7444=<O ?> F5<5: «&5E=>?>7<G5E><= 
?D>F5EE <5E4=<G5E>>= >5D45>F>< 45F4?<»  (4G.) 
$45>F4 E =47?O4=O<< ?>E>5<O<< < <>45?O<<: (2G.) 
- <7GG5=<5 GEFD>=EF64 < ?D<=F<?4 D45>FO <=EFDG<5=F>6 < >5>DG4>64=<O, ?D<<5=O5<OE ?D< D574=<< <5F4??>6. 

6 

�E57>: 120 
�?O E4D4>F5D<EF<>< GD>6=O >E6>5=<O GG55=>7> <4F5D<4?4 <E?>?L7GNFEO E?54GNM<5 >5>7=4G5=<O: 
1. 3 >7=4>><<F5?L=O= (G7=464=<5 D4=55 <7GG5==OE >5N5>F>6, E6>=EF6);  
2. 3 D5?D>4G>F<6=O= (6O?>?=5=<5 45OF5?L=>EF< ?> >5D47FG, <=EFDG>F<< <?< ?>4 DG>>6>4EF6><); 
3. 3 ?D>4G>F<6=O= (??4=<D>64=<5 < E4<>EF>OF5?L=>5 6O?>?=5=<5 45OF5?L=>EF<, D5L5=<5 ?D>5?5<=OE 7444G). 
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3. '%����/ $������&�� ''����� ��%&�����/ 
3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5-
=<N 
$54?<74F<O GG55=>= 4<EF<??<=O FD55G5F =4?<G<O GG55=>7> >45<=5F4 «�4F5-
D<4?>6545=<5», E?5E4D=>= < <5E4=>>5D454FO64NM5= <4EF5DE><E. 
�5>DG4>64=<5 GG55=>7> >45<=5F4: 
- ?>E44>G=O5 <5EF4 ?> >>?<G5EF6G >5GG4NM<EEO; 
- D45>G55 <5EF> ?D5?>4464F5?O; 
- >><??5>F GG55=>-=47?O4=OE ?>E>5<= «�4F5D<4?>6545=<5»; 
- 4?L5><O D>F>7D4D<= <<>D>EFDG>FGD <5F4??>6 < E??46>6; 
- =45>DO L?<D>6 <5F4??>6 < E??46>6; 
- >F?5G4F>< E?<F>>6 4?O <4>D><EE?54>64=<O; 
- >5N5<=O5 <>45?< <5F4??<G5E><E >D<EF4??<G5E><E D5L5F>>; 
- >>??5>F<< >5D47F>6 <5F4??>6, E??46>6, =5<5F4??<G5E><E <4F5D<4?>6; 
- F65D4><5DO; 
- D47DO6=4O <4L<=4; 
- <4OF=<>>6O= >>?UD; 
- <GD5?L=4O ?5GL; 
- EF5??46 4?O ED4=5=<O GG55=>-=47?O4=OE ?>E>5<= < ?D<5>D>6; 
- EF5=4 E 4<47D4<<>= «�5?57>-F5<5=F<F»; 
- EF5=4O ?D<<5=5=<O <4F5D<4?>6 6 <4L<=>EFD>5=<<. 
&5E=<G5E><5 ED54EF64 >5GG5=<O: 
- >><?LNF5D E ?<F5=7<>==O< ?D>7D4<<=O< >55E?5G5=<5<, <G?LF<<54<4?D>-
5>F>D, M>D4=. 
�5>DG4>64=<5 <4EF5DE>>= < D45>G<E <5EF <4EF5DE>>=: 
?> >>?<G5EF6G >5GG4NM<EEO: 
- 65DEF4> E?5E4D=O= E <=4<6<4G4?L=O< >E65M5=<5< < 74M<F=O<< M>D4=4<<; 
- ?4D4??5?L=O5 ?>6>D>F=O5 F<E><; 
- >><??5>F D45>G<E <=EFDG<5=F>6; 
- <7<5D<F5?L=O= < D47<5F>G=O= <=EFDG<5=F; 
=4 <4EF5DE>GN: 
- E65D?<?L=O5 EF4=><; 
- F>>4D=O5 EF4=><; 
- DD575D=O5 EF4=><; 
- L?<D>64?L=O5 EF4=><; 
- EF4F<>=4D=O5 D>?<>>6O5 7<5>G=O5 EF4=><; 
- 74F>G=O5 EF4=><; 
- M?5>FD>F>G<?4; 
- DOG46=O5 < EFG?>6O5 =>6=<FO; 
- 6OFO6=4O < ?D<F>G=4O 65=F<?OF<O. 
 
3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
�5D5G5=L D5>><5=4G5<OE GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 
4>?>?=<F5?L=>= ?<F5D4FGDO 
4) �E=>6=O5 <EF>G=<><:  
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7 
?/? 

�EF>G=<> 

1 �4F5D<4?>6545=<5 <4L<=>EFD><F5?L=>7> ?D><76>4EF64. � 2 G. '4EFL 
1 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. 
�44E><=, .. �. %54>6, �. �. �=57<=4, �. �. �?<<>6. 4 2-5 <74., <E?D. 
< 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2019. 4 258 E. 4 (�D>D5E-
E<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-08154-1. 4 &5>EF : 
M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://biblio-
online.ru/bcode/442580 (44F4 >5D4M5=<O: 01.07.2019). 

2 �4F5D<4?>6545=<5 <4L<=>EFD><F5?L=>7> ?D><76>4EF64. � 2 G. '4EFL 
2 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. 
�44E><=, .. �. %54>6, �. �. �=57<=4, �. �. �?<<>6. 4 2-5 <74., <E?D. 
< 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2019. 4 291 E. 4 (�D>D5E-
E<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-08156-5. 4 &5>EF : 
M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://biblio-
online.ru/bcode/442306 (44F4 >5D4M5=<O: 01.07.2019). 

3 �4F5D<4?>6545=<5 < F5E=>?>7<O <4F5D<4?>6. � 2 G. '4EFL 1 : GG55=<> 
4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $5F<E>6 [< 4D.] ; 
?>4 D544>F<5= �. �. $5F<E>64. 4 8-5 <74., ?5D5D45. < 4>?. 4 �>E>64 
: �744F5?LEF6> .D4=F, 2019. 4 386 E. 4 (�D>D5EE<>=4?L=>5 >5D47>-
64=<5). 4 ISBN 978-5-534-09896-9. 4 &5>EF : M?5>FD>==O= // -�% 
.D4=F [E4=F]. 4 URL: https://biblio-online.ru/bcode/442414 (44F4 >5-
D4M5=<O: 01.07.2019). 

4 �4F5D<4?>6545=<5 < F5E=>?>7<O <4F5D<4?>6. � 2 G. '4EFL 2 : GG55=<> 
4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $5F<E>6 [< 4D.] ; 
?>4 D544>F<5= �. �. $5F<E>64. 4 8-5 <74., ?5D5D45. < 4>?. 4 �>E>64 
: �744F5?LEF6> .D4=F, 2019. 4 389 E. 4 (�D>D5EE<>=4?L=>5 >5D47>-
64=<5). 4 ISBN 978-5-534-09897-6. 4 &5>EF : M?5>FD>==O= // -�% 
.D4=F [E4=F]. 4 URL: https://biblio-online.ru/bcode/442415 (44F4 >5-
D4M5=<O: 01.07.2019). 

 
5) �>?>?=<F5?L=O5 <EF>G=<><:  
 
7 
?/? 

�EF>G=<> 

1 $O5L56, �. �. %FD><F5?L=>5 <4F5D<4?>6545=<5 6 2 G. '4EFL 1 : GG55-
=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $O5L56. 4 
4-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2019. 4 
275 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09336-
0. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://biblio-
online.ru/bcode/441958 (44F4 >5D4M5=<O: 01.07.2019) 

2 $O5L56, �. �. %FD><F5?L=>5 <4F5D<4?>6545=<5 6 2 G. '4EFL 2 : GG55-
=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. $O5L56. 4 
4-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2019. 4 
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429 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09338-
4. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://biblio-
online.ru/bcode/441959 (44F4 >5D4M5=<O: 01.07.2019). 

 
6) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO 
 
7 
?/? 

�EF>G=<> 

1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»   
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=-
65=5D=>-F5E=<G5E><5 =4G>< (&N<�') www.e.lanbook.com   

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: �5-
M5EF-6> E >7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU)  
https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www.biblio-
online.ru   

 
5. ���&$��, � �&���� $��'�,&�&�� �%�����/ ''����� 

��%&�����/ 
 

�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O GG55=>= 4<EF<??<=O >EGM5EF6?O-
5FEO ?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 74=OF<= < ?45>D4-
F>D=OE D45>F, F5EF<D>64=<O, 4 F4>65 6O?>?=5=<O >5GG4NM<<<EO <=4<6<4G-
4?L=OE 7444=<=. 
 

$57G?LF4FO >5GG5=<O 
(>E6>5==O5 G<5=<O, GE6>5==O5 

7=4=<O) 

$>D<O < <5F>4O >>=FD>?O < >F5=>< D5-
7G?LF4F>6 >5GG5=<O 

2 3 

�E6>5==O5 G<5=<O:   
D4E?>7=464FL < >?4EE<D<F<D>-
64FL >>=EFDG>F<>==O5 < EODL5-
6O5 <4F5D<4?O ?> 6=5L=5<G 6<-
4G, ?D><EE>645=<N, E6>=EF64<; 

�<D. 74GUF. &5EF<D>64=<5. ->E?5DF=4O 
>F5=>4 6O?>?=5=<O E4<>EF>OF5?L=>= D4-
5>FO. 

>?D545?OFL 6<4O >>=EFDG>F<>=-
=OE <4F5D<4?>6; 

�<D. 74GUF. &5EF<D>64=<5. ->E?5DF=4O 
>F5=>4 6O?>?=5=<O E4<>EF>OF5?L=>= D4-
5>FO. �O?>?=5=<5 < 74M<F4 ?45>D4F>D=>=  
D45>FO. 

6O5<D4FL <4F5D<4?O 4?O >>=-
EFDG>F<= ?> <E =47=4G5=<N < 
GE?>6<O< M>E??G4F4F<<; 

�<D. 74GUF. ->E?5DF=4O >F5=>4 6O?>?=5-
=<O ?D4>F<G5E>>= D45>FO. ->E?5DF=4O 
>F5=>4 6O?>?=5=<O E4<>EF>OF5?L=>= D4-
5>FO. 

?D>6>4<FL <EE?54>64=<O < <E?O- �O?>?=5=<5 < 74M<F4 ?45>D4F>D=>=  D4-
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F4=<O <4F5D<4?>6; 5>FO. 
D4EEG<FO64FL < =47=4G4FL >?F<-
<4?L=O5 D56<<O D574=<O. 

�O?>?=5=<5 < 74M<F4 ?45>D4F>D=>=  D4-
5>FO. 
->E?5DF=4O >F5=>4 6O?>?=5=<O E4<>EF>O-
F5?L=>= D45>FO. 

'E6>5==O5 7=4=<O:  
74>>=><5D=>EF< ?D>F5EE>6 >D<-
EF4??<74F<< < EFDG>FGD>>5D47>-
64=<O <5F4??>6 < E??46>6, >E=>-
6O <E F5D<>>5D45>F><, E?>E>5O 
74M<FO <5F4??>6 >F >>DD>7<<; 

�<D. 74GUF. &5EF<D>64=<5. ->E?5DF=4O 
>F5=>4 6O?>?=5=<O ?D4>F<G5E>>= D45>FO. 
->E?5DF=4O >F5=>4 6O?>?=5=<O E4<>EF>O-
F5?L=>= D45>FO. 

>?4EE<D<>4F<O < E?>E>5O ?>?G-
G5=<O >><?>7<F<>==OE <4F5D<-
4?>6; 

�<D. 74GUF. &5EF<D>64=<5. 

?D<=F<?O 6O5>D4 >>=EFDG>F<-
>==OE <4F5D<4?>6 4?O ?D<<5=5-
=<O 6 ?D><76>4EF65; 

�<D. 74GUF. &5EF<D>64=<5. ->E?5DF=4O 
>F5=>4 6O?>?=5=<O ?D4>F<G5E>>= D45>FO. 
->E?5DF=4O >F5=>4 6O?>?=5=<O E4<>EF>O-
F5?L=>= D45>FO. 

EFD>5=<5 < E6>=EF64 <5F4??>6, 
<5F>4O <E <EE?54>64=<O; 

�<D 74GUF. &5EF<D>64=<5. 
�O?>?=5=<5 < 74M<F4 ?45>D4F>D=>=  D4-
5>FO. 

>?4EE<D<>4F<O  <4F5D<4?>6, <5-
F4??>6 < E??46>6, >5?4EF< <E 
?D<<5=5=<O; 

�<D. 74GUF. &5EF<D>64=<5. ->E?5DF=4O 
>F5=>4 6O?>?=5=<O ?D4>F<G5E>>= D45>FO. 
->E?5DF=4O >F5=>4 6O?>?=5=<O E4<>EF>O-
F5?L=>= D45>FO. 

<5F>4<>4 D4EGUF4 < =47=4G5=<O 
D56<<>6 D574=<O 4?O D47?<G=OE 
6<4>6 D45>F. 

�<D. 74GUF. �O?>?=5=<5 < 74M<F4 ?45>D4-
F>D=>= D45>FO. 
->E?5DF=4O >F5=>4 6O?>?=5=<O E4<>EF>O-
F5?L=>= D45>FO. 

 
$47D45>FG<>:  
    
%�$ ��$�      ?D5?>4464F5?L ________________        �. �. �>F>64 
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->E?5DFO:  
 
%�$ ��$� 
(<5EF> D45>FO) 

  ?D5?>4464F5?L  
(74=<<45<4O 4>?6=>EFL) 

�>F4D56 �. �. 
(<=<F<4?O, D4<<?<O) 

 
?>4?<EL 

 
��� «����46-
F>» 
(<5EF> D45>FO) 

�<D5>F>D_______ 
(74=<<45<4O 4>?6=>EFL) 

�5=<E>64 �.�. 
(<=<F<4?O, D4<<?<O) 

 
?>4?<EL 

  
  
     
 


